


P-BOT 2017 CHASSIS: DISASSEMBLED

e-Gizmo P-BOT 2017 rev2.0 disassembled kit for more fun and
additional assembly skills.

e-Gizmo.com

eGizmoMechatronix

Parts:
QTY ITEMS
6 3 x 6 mm Screws
18 3x8 mm Screws
2 3 x 10 mm Screws
4 2.5 x 20 mm Screws
4 2.5 mm Nuts
1 M-BOT Chassis
1 Roller Ball
2 Rubber Wheels
1 Spoiler
1 Battery Holder
2 Motor Bracket
1 Motor and Battery Holder
4 1-pin Wire connector (F-F)
4 3 x 13 mm Brass Studs
6 3x 25 mm Brass Studs
2 3 x 35 mm Brass Studs
2 DC Geard Motor 6V (Angle-type)
1 Roller Ball

PBOT 2017 MOBILE ROBOT: Parts

CHASSIS

WHEELS [2 pcs]

6V DC MOTORS [2 pcs]

WIRES [4pcs]

ROLLER BALL

BATTERY HOLDER

MOTOR BRACKET [2pcs]

MOTOR AND BATTERY HOLDER

SPOILER

3 x 6 mm [6 pcs]

2.5 x 25 mm [4 pcs]

3 x 25 mm [6 pcs]

3 x 13 mm [4 pcs]

ROLLER HOLDER

2.5mm [4 pcs]

3 x 35 mm [2 pcs]

3 x 8 mm [18 pcs]




